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Polynomials
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t can be represented by the same set of algebia tiles,
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. Multiply: 7(2x° - 52)

A 14x® - 5 b. j4x% .3z Jax® = 3
14. Multiply: (—2)(4c“ - 6 -7} Ch
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white square represents an x-tile, a large black square represents o 2tile, w white rectangle
an x-tile, 4 black rectangle represents a —x-tile, a small white square represents a 1-tile, and a small

are represents a -1 -tile.

Write the simplified polynomial.
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. Sublract: (3x° - fix+4) —(5x7 =4z~ 5)
. Subtract: (4x2 +0x - 3)—'[;:? —11x+ 5

., Multiply: 3(-25" - 5)

o '2
. Multiply: =2(=8 + 2x— 5x°) -
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. Detzrmine the product: (~2x){4x + 3y - 52)

. Determine the quotient: (~105% + 45— 622) -+ (~27) 0 oy
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e multiplication sentence modelled by this rectangle.
g the aren of the rectangle when x = 12,
your work.

a mm of a rectangular deck, in square metres, is given by the poly nnmlal ‘.__J +3dn,
“The deck is 8 metres wide.

@) Writea polynomial to represent the length of the deck,
b) Determine the length, width, and area of the deck when g =4 m

. a) Determine a polynomial for the perimeter of the shape below
b) Determine & polynomial for the area of the shape below
¢} Determine the perimeter and an:a when x = 6 cm.
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